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GENERAL STUDIES (PAPER-])

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words each, whereas answers to
Question Nos. 11 to 20 should be in 250 words each.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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. YR wrE % fawm A R § sirifes wr B i @ o fifg
(W 150 st & i)

Explain the role of geographical factors towards the development of Ancient India.
(Answer in 150 words)

. TR i 3R ey TR § e oij twEr ¥ wfy @9 w= oo ar?
(IW 150 w==t § Hifsm)

What was the difference between Mahatma Gandhi and Rabindranath Tagore in
their approach towards education and nationalism? (Answer in 150 words)

. T % faftm 39 3 Y@ % armE ¥ R I wfie-anfls waEt B SR Hifg
(3| 150 wr=_t ¥ difsmw)

Bring out the socio-economic effects of the introduction of railways in different
countries of the world. (Answer in 150 words)

. IwEeady W A @ W W Seay diads % ghomt 6 e $iftm
(IW 150 wi=3t § difvm)

Discuss the consequences of climate change on the food security in tropical
countries. (Answer in 150 words)

I g a= s F el i Iuerear R igE F g A = @ w7
(I| 150 W=t # Hifsre)

Why is the world today confronted with a crisis of availability of and access to
freshwater resources? (Answer in 150 words)

. Touie %8 wa &7 3 3P % oo wed o & o fmfn W@ w@ 87 (w150 v § difv)

How are the fjords formed? Why do they constitute some of the most picturesque
areas of the world? (Answer in 150 words)

. EEu-ufegm A TR &7 § @’ (qff) @i Feera 27 39 Rumees deh vaw woneh Y 4 %
TEpias AFER B A g9 e 27 (IW 150 wi==1 # difdre)
Why is the South-West Monsoon called ‘Purvaiya’ (easterly) in Bhojpur Region? How

has this directional seasonal wind system influenced the cultural ethos of the
region? (Answer in 150 words)

. F AN g R, yfie wwa # faw o deR ¥ w9 A s e @ o @ 27
(IW 150 w=1 # <ifs)

Do you think marriage as a sacrament is loosing its value in Modern India?
(Answer in 150 words)
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11.

12.

13.

14.

15.

16.

WA A Fegafodl § Soveen #9619 W 27w Fit) (3| 150 w=st # difdne)

Explain why suicide among young women is increasing in Indian society.
(Answer in 150 words)

T I gARA h TR 37E Hage BH A A A R = F aeiE ) wh yvE 6 5= S

(W 150 vr=1 # §ifs)
Child cuddling is now being replaced by mobile phones. Discuss its impact on the
socialization of children. (Answer in 150 words)

afees T 3R o A g fdwand F=n ¥ 70 o AR € 6 o A 3o Rvend vl e @

aft oft yafora &7 (I 250 w=2t #§ &)
What are the main features of Vedic society and religion? Do you think some of the
features are still prevailing in Indian society? (Answer in 250 words)

Hoaad Fd & aH fF) T 98 A Seama @ A7 H aFAE SeaEl Y WRAT g9 S 5

wTfa faRan an? (IW 250 w==t § ifv)

What were the major technological changes introduced during the Sultanate period?
How did those technological changes influence the Indian society?
(Answer in 250 words)

ard A shofafis e 3 enfaiel ® %R gwfea fen oik shfRfes sefer ¥ wiy sfard

yfafsear = ofi? (IW 250 W=t # $fvm)
How did the colonial rule affect the tribals in India and what was the tribal response
to the colonial oppression? (Answer in 250 words)

WA ) Tl FeE G amarelt ® et it oiv g Al wfe @@ A war f RR w

TH Ifere | (3| 250 wi=st & fsm)
Comment on the resource potentials of the long coastline of India and highlight the
status of natural hazard preparedness in these areas. (Answer in 250 words)

I | wrehfash ot i ffiw % g sewerh wret 9 weiti ok s s i) e
qi-a9 &A1 § TG ARV F Hew F AHeH | (I 250 vt § Hifvrg)

Identify and discuss the factors responsible for diversity of natural vegetation in
India. Assess the significance of wildlife sanctuaries in rain forest regions of India.
(Answer in 250 words)

wﬁmﬁmaﬁmméﬁmmwﬁﬁwmﬁgm? (3| 250 W=t 7 difsm)

Why did human development fail to keep pace with economic development in India?
(Answer in 250 words)
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17. 1960 ¥ 395 & Y& G AT A, ¥R 54 § v e @ fafes & w9 § 3w sro A

(3W 250 w=a1 # €ife)
From being net food importer in 1960s, India has emerged as a net food exporter to
the world. Provide reasons. (Answer in 250 words) 15

18. 1 W™ HEAT § wedEor el B iR oft s gymwr sfv/@n TR W @ S R?

(3W 250 w=El & o)

Does urbanization lead to more segregation and/or marginalization of the poor
in Indian metropolises? (Answer in 250 words) 15

19. ¥RA ¥ s sf@an nfesfia v Rer 1 & =41 27 (IW 250 wr=Et § Afvrg)
Why is caste identity in India both fluid and static? (Answer in 250 words) 15

20. U9 Y9N Td GINSIEAl W IW-ITRAE Adegawy1 F ywE H Fasm fivw)
(IW 250 w=t # difvm)

Discuss the impact of post-liberal economy on ethnic identity and communalism.
(Answer in 250 words) 15

* ok ok
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